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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@) 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Incidence of carrying of calculator/mobile/any
electronic  device/objectionable material will be
treated as unfair means case.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.
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Meiosis occurs in
a) conidia

b) meiocyte

C) megaspore
d) gemmule

"The Term ‘Species’ was proposed

by

a) John ray
b) Linnaeus
c) Aristotle
d) Darwin

Julian Huxley developed the
concept of

a) new systematics

b) classification

c) old systematics

d) taxonomic hierarchy

Which of the plant groups needs
both land and water to complete
their life cycle?

a) Tracheophyta
b) Pteridophyta
c) Thallophyta
d) Bryophyta

Pteridophytes differ from mosses in

a) independent gametophyte

b) dependent gametophyte

c) flagellate antherozoids

d) independent and dominant
sporophyte
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The transport of male gametes in
bryophytes and  pteridophytes
occurs through

a) wind

b) water

c) birds

d) insects

Which of the following growth
hormones produces apical
dominance?

) ethylene
) cytokinin

) auxin

) gibberellin

a
b

c
d

Among the following, which acid is
a Derivative of Carotenoids?

Gibberellic acid
Indole butyric acid
Indole acetic acid
Abscisic acid

a

N N N N

b
c
d

Coiling of Garden Pea Around any
Structure is an Example of

a) Thermotaxis
b) Thigmotropism
c) Thigmonasty
d) Thigmotaxis

Who Gave the ‘Root Pressure’
Theory?

a) J.C. Bose

b) Godlewski

c) Stephan Hales
d) Boehm
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have no
Role in Photosynthesis.

a) anthocyanin
b) xanthophyll

c) phycoerythrin
d) phycocyanin

A plant which reproduces by means
of spores

a) petunia

b) ferns

c) coriander
d) mustard

Cuscutais a

a) partial root parasite

b) complete root parasite
c) partial stem parasite

d) complete stem parasite

Yellow spots on citrus leaves is due
to the deficiency of

a) Boron

b) Zinc

c) lron

d) Magnesium

Which of the following is an

insectivorous plant?

a) Drosera
b) Orobanche
c) Rafflesia
d) Balanophora
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If a cell kept in solution of unknown
concentration get deplasmolysed,
then the solution is called

a) hypotonic

b) hypertonic

c) isotonic

d) detonic

Which of the following composes
the hypodermis of a dicot stem?

a) parenchyma
b) collenchyma
c) sclerenchyma
d) aerenchyma

What is the condition called, if the
protoxylem is encircled by the
metaxylem?

a) exarch

b) endarch
c) polyarch
d) mesarch

Healing of wound in plants is done
by the activity of

a) apical meristem
b) lateral meristem
c) primordial meristem
d) intercalary meristem

Pith and cortex do not differentiate
in

a) monocot stem

b) dicot stem

c) monocot root

d) dicot root
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In a racemose, the flower

arrangement is

a) basipetal
b) centripetal
c) centrifugal
d) acropetal

Interfascicular cambium develops
from the cells of

a) xylem parenchyma
b) endodermis

C) pericycle

d) medullary rays

Epipetalous is the condition of

a) adhesion of stamens with
corolla

b) cohesion of stamens with calyx

c) aestivation of petals

d) position of sepals with respect to

petals
Filiform apparatus is formed by

a) synergids
b) antipodals
c) egg cell
d) tapetum

The point at which funiculus
touches the ovule is

a) chalaza
b) hilum
c) raphe
d) endothelium

At the time of fertilization, the
female gametophyte is

a) 5 celled
b) 7 celled
c) 6 celled
d) 8 celled
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A trend in floral evolution is

) bilateral symmetry
) lateral symmetry

) spiral symmetry

)

a
b
C
d) radial symmetry

Occurrence of fence or barrier
between anthers and stigma of a
flower is called

a) dichogamy
b) cleistogamy
c) herkogamy
d) heterostyly

Chromosomal puffs (Balbiani’s ring)
are the active site for

a) steroidogenesis

b) lipogenesis

c) assembly of purine and
pyrimidine bases for DNA
replication

d) synthesis of RNA and protein

Which aspect of mitosis is affected
by Colchicine in inducing
polypeptide?

a) spindle formation

b) cell plate formation

c) chromosome doubling
d) DNA duplication

'Segregation of genes takes place

during

a) metaphase

b) anaphase

c) prophase

d) zygote formation
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Mendel published the results of his
experiment in

a) 1568
b) 1773
c) 1866
d) 1921

The trait phenotypic ratio of a
haploid organism is

a) 1:21

b) 3:1

c) 1:1

d) 9:3:3:1

Closure of stomata is due to

) efflux of K*
) influx of K
) efflux of Na*
) influx of Na*

a
b

c
d

Which of the following is not a
micronutrient?

a) Mo

b) B

c) Zn

d) Mg

Cohesion transpiration pull theory
operates only in

a) passive water absorption

b) active water absorption
c) conditions favouring transpiration

d) conditions restricting transpiration

Which of the following enzymes
catalyses a non-reversible reaction
in glycolysis?

a) phosphofructokinase

b) enolase

c) triose phosphate isomerase

d) phosphohexose isomerase
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How many molecules of CO, are
produced per mole of acetyl Co-A in
TCA cycle?

a) 2

b) 1

c) 3

d) 4

The number of oxygen molecules
produced per quantum of light
absorbed is

) oxygen yield

) photosynthesis yield
) quantum yield

) organic yield

a
b

c
d

Etiolation of plants is caused when
they

a) are grown in dark

b) have mineral deficiency
c) are grown in intense light
d) are grown in blue light

The synthetic hormone used as a
weedicide is

a) Indole 3-acetic acid

b) Gibberellic acid

c) 2,4-dichlorophenoxyacetic acid
d) Malic hydrazide

Protoplast fusion between Nicotiana
glauca and Nicotiana langsdorffii
was obtained by

a) Robertis
b) Carlson
c) Kuchko
d) Vasil
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A lake with rich nutrients is known
as

a) euphotic

b) eutrophic

c) aphotic

d) oligotrophic

Bread wheat is

a) autopolyploid
b) allopolyploid
c) aneuploid

d) trisomic

The hybrid variety is
a) genetic

b) F-generation

c) sterile

d) fertile

Prop roots are modified roots found

a) Banyan tree
b) Hibiscus

c) Vine

d) Passifiora

The arrangement of leaves is called

a) phyllotaxy
b) phyllotaxis
c) ptyxis

d) venation

The plasmid vector is cleaved by

a) exonuclease
b) ribonuclease
c) endonuclease
d) any nuclease
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If gene of interest is inserted into

protoplasts but the transformation is

not stable, then it is called as
expression systems

permanent
temporary
transient
unstable

O O T
SN N N N

What is the function of glyphosate?

a) ltis a fungicide

b) Itis an herbicide

c) Itis an enzyme used in place of
glucose as a carbon source

d) It is used for adding phosphate
groups

Who was the author of the book
named "Methods in Social
Research"?

a) Kerlinger

b) CR Kothari

c) Goode and Hatt

d) Wilkinson

What is the major attribute of
Correlation Analysis?

a) Association among variables
b) Difference among variables
c) Regression among variables
d) Variations among variables

In order to pursue the research,
which of the following is priorly
required?

a) Developing a research design

b) Formulating a researchquestion

c) Deciding about the data
analysis procedure

d) Formulating a research
hypothesis



54

55

56

57

58

fafof@a & @ «ia a1 a9 Fgaeh

AU & HeH H 3T &7

a) I AT I ATFd o TT H IgATIdT &

b) T ST shi Ueh HIfgeh Tishar &

c) IE A I TAAWAT oh T H Fgcd ol
4

d) SH&T UHHATT 3662 ATel T 3G o

ITHTT &1 H defliolen gefa &1 &g
T _ &

a) ST eITEdT H UR

b) T38fsr T gfce &Y

c) v dRTTed HIRTT S

d) sTeholl YT I WcH Y

IR-FHTSIAT AFHATRIOT fehdl gl STl 872
a) ey dyfelar

b) Fereex Hufelar

c) cgafeyd daferer

d) T srferafaa daferer

geTaell T &7

a) 3feraene fafer

b) HTI dehsileh

Cc) 3T HIUE & folT 3TRIOT
d) 3T faevoT dehsileh

thare IR oT TARSNUT ST 3UHNT AT 57

a) IR I TAUT A & forw

b) ar aINTIeH & T AT FI FASA & T
c) ar aRTTeH & oI HAY HI FHSTA & ol

d) [Affe dNueeE & &g FR =
THST & forw

11

54

55

56

57

58

Which one among the following
statements is false in the context of
participatory research?

a) It recognizes knowledge as
power

b) It is a collective process of
inquiry

c) It emphasizes people as
experts

d) Its sole purpose is the
production of knowledge

The main aim of the scientific
method in the research field is to

Improve data interpretation
Confirm triangulation
Introduce new variables
Eliminate spurious relations

O 0O TO
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Which one is called non-probability
sampling?

a) Quota sampling

b) Cluster sampling

c) Systematic sampling

d) Stratified random sampling

Questionnaire is a

a) Research method

b) Measurement technique
c) Tool for data collection
d) Data analysis technique

What is

Analysis?

a) For setting the hypotheses

b) To understand the difference
between two variables

c) To understand the relationship
between two variables

d) To understand the difference
between various variables

the use of Factorial
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Which of the following should not

be a criterion for a good research

project?

a) Demonstrates the abilities of
the researcher

b) Is dependent on the completion
of other projects

c) Demonstrates the integration of
different fields of knowledge

d) Develops the skills of the
researcher

Which form of reasoning is the
process of drawing a specific
conclusion from a set of premises?

a) Obijective reasoning

b) Positivistic reasoning
c) Inductive reasoning
d) Deductive reasoning

Which research method is a
bottom-up approach to research?

a) Deductive method

b) Explanatory method
c) Inductive method
d) Exploratory method

Research that uses qualitative
methods for one phase and
quantitative methods for the next
phase is known as

a) Action research

b) Mixed-method research
c) Quantitative research
d) Pragmatic research

Adopting  ethical

research means

a) Avoiding harm to participants

b) The researcher is anonymous

c) Deception is only used when
necessary

d) Selected informants give their
consent

principles in
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The Kappa statistic:

a) Is a measure of inter-judge
validity

b) Compares the level of
agreement between two judges
against what might have been
predicted by chance

c) Ranges from 0 to +1
d) Is acceptable above a score of
0.5

A variable that is presumed to
cause a change in another variable
is called

a) An intervening variable
b) A dependent variable

c) An independent variable
d) A numerical variable

Which correlation is the strongest?

a) —1.00
b) +80
c) -60
d) +05

When interpreting a correlation
coefficient expressing the
relationship between two variables,
it is important not to

a) Assume causality

b) Measure the values for X and Y
independently

c) Choose X and Y values that
are normally distributed

d) Check the direction of the
relationship

Which of the following can be
described as a nominal variable?

a) annual income

b) age

c) annual sales

d) geographical location of a firm
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Qualitative research is used in all
the following circumstances,
except:

a) It is based on a collection of
non-numerical data such as
words and pictures

b) It often uses small samples

c) It uses the inductive method

d) |Itis typically used when a great
deal is already known about
the topic of interest

In an experiment, the group that
does not receive the intervention is
called

a) The experimental group
b) The participant group
c) The control group

d) The treatment group

Which of the following is not ethical

practice in research with humans?

a) Maintaining participants’
anonymity

b) Gaining informed consent

c) Informing participants that they
are free to withdraw at any time

d) Requiring participants to
continue until the study has
been completed

When each member of a population
has an equal chance of being
selected, this is called:

a) A snowball sample

b) A stratified sample

c) A random probability sample
d) A non-random sample
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Which of the following will produce
the least sampling error?

a) A large sample based on
convenience sampling

b) A small sample based on
random sampling

c) A large snowball sample

d) A large sample based on
random sampling

In qualitative research, sampling
that involves selecting diverse
cases is referred to as:

a) Typical-case sampling

b) Critical-case sampling

c) Intensity sampling

d) Maximum variation sampling

The ‘reliability’'of a measure refers
to the researcher asking:

a) Does it give consistent results?

b) Does it measure what it is
supposed to measure?
c) Can the results be

generalized?

d) Does it have face reliability?

All of the following are sources of
secondary data except:

a) Official statistics

b) A television documentary

c) The researcher's research
diary

d) A company’s annual report
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Which of the following is not an
SPSS Type variable?

a) Word

b) Numeric

c) String

d) Date

The measure of the extent to which
responses vary from the mean is
called:

a) The mode

b) The normal distribution
c) The standard deviation
d) The variance

Validity in qualitative research can
be strengthened by all of the
following except:

a) Member checking for accuracy
and interpretation

b) Transcribing interviews to
improve accuracy of data

c) Exploring rival explanations

d) Analysing negative cases

Plagiarism can be avoided by:

a) Copying the work of others
accurately

b) Paraphrasing the author’s text
in your own words

c) Cut and pasting from the
Internet
d) Quoting directly without

revealing the source

Which of the following are strong
indicators of multicollinerarity?

a) Large standard error

b) MSE is very low

c) coefficient signs match prior
expectations

d) t-test indicates atleast one
significant variable
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Which method can explain the
possiblity of population correlation
matrix by estimating the sample
correlation matrix?

) centroid method

) Principal Components Method
)  maximum likelihood method

) rotation method

a
b

c
d

In Completely Randomized design
which of the principles are/is used?

a) Principle of Replication and
Randomization

b) Principle of Randomization and
Local Control

c) Principle of Local Control and
Replication

d) Principle of Randomization only

Which type of central tendency
measure is used in interval scale?

a) Mean

b) Median

c) Mode

d) Geometric Progression

Which are the two aspects of
Reliability?

a) stability and availability

b) relevance and equivalence

c) stability and equivalence

d) validity and availability

An image, perception or concept
that is capable of measurement is
called

a) Scale

b) Hypothesis
c) Type

d) Variable
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How to judge the depth of any

research?

a) By research title

b) By research duration

c) By research objectives

d) By total expenditure on
research

In the process of conducting
research ‘Formulation of
Hypothesis” is followed by

a) Statement of Objectives

b) Analysis of Data

c) Selection of Research Tools
d) Collection of Data

Concepts are
Research

a) Guide

b) Tools

c) Methods

d) Variables

What do you mean by Unit of
Analysis?

a) Main parameter
b) Variables

c) Sample

d) Constructs

A formal document that presents
the research objectives, design of
achieving these objectives, and the
expected outcomes/deliverables of
the study is called

a) Research design

b) Research proposal
c) Research hypothesis
d) Research report
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Questions in  which only two
alternatives are possible is called

a) Multiple choice questions

b) Dichotomous questions

c) Open ended questions

d) Structured questions

To compare the performance of a
group at time T1 and then at T2, we
would use:

a) A chi-squared test

b) One-way analysis of variance
c) Analysis of variance

d) A paired t-test

Cluster sampling, stratified
sampling and systematic sampling
are types of

a) Direct sampling

b) Indirect sampling

c) Random sampling

d) Non random sampling

The split-half method is used as a
test of:

Stability

Internal reliability
Inter-observer consistency
External validity

O O T O
S N N N

Random sampling is also called

Availability sampling
Probation sampling
Probability sampling
Prospect sampling

O 0O T
SN N N N
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“Which test

The significance level

a) Is set after a statistical test is
conducted

b) Is always set at 0.05

c) Resultsin a p-value

d) Measures the probability of
rejecting a true null hypothesis

is the part of the
parametric test?

a) Sign Test

b) Run Test for Randomness

c) Kruskal-Willis Test

d) z-test

“What type of chart is useful for

showing trends or changes over
time?

a) Pie Chart

b) Column Chart

c) Line Chart

d) Dot Graph

‘In SPSS, what is the "Data
Viewer"?
a) A table summarizing the

frequencies of data for one
variable

b) A spreadsheet into which data
can be entered

c) A dialog box that allows you to
choose a statistical test

d) A screen in which variables can

be defined and labeled
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